FZTALRLSZEIERMEEZR
103 24 F 2 REXMAGEE [EEH] A

— - HEFEGES S 0D
L ¥ x, yeRFx+3y-1=0, f(x, y)=3"+27, 8] f(c, WHSNMER (1)

J3

2. 5 0°<a<90°, %x2+kx+T=OZ:7FF<'/%Sina, cosa, Bl sinfa+ cos’a= (2)
3. AABCHI, £4=60°, AB=8, AC=6, LAZHNETSMGTRIZBCHAD K4aD=__ (3)

4. A, BYRZ=AIIEES, HB>100, FHlogBZ R#IRlogdZ RE 73, A4 +BZ{H= (4)

5. Bl +(1+x0)+(1+x)P+ .+ (1 +x) " =ax"+a. X"+ ... tax+ay, Fas=a,+as, Rln= (5)

6. GEAABCEL, WG —BEHLRAFRP, RACKHQ, HAb-rIB, 10-sI0 (Hifr, sihAROME
W), FIOr+4sIB/MER_ (6)

SN

7. EEECEE E, TR -+ 2 -2z 1 = O ERBTES LB, HEEE ()

8. AVEE, WML x-3y=k, L12x-y=kSchalh, f¢L b8 R a4t

A COMBERE Ly iy P26, Fe Py LoeE L i B2, Ffe Pk / P,

EE L, BHY P BL IRIEHARIEE TR, fEL BB R, B, B, ., 5L % 'p
P, 2

&R, B, P, ..., BIXBP.=__ (8

9. B, ZZANFEEAKR, UBZXRBEZEREE, KEBBEZMER_ 9

10. BILMBUFREEE EIREHEACE TE (FAREE, BE, BEE=m) R
FAGETEE T 0% GRERTEE, H10%SURE, 0% REH$E ;
FORFIEEB20%GUHEEE, AS0%RERE, A30%URA5HE
FORESRE AT 10%S0EFEE, 0% BMbtHE . RIS, SRR 5@ FIRS DLe) ?

(10)




1. FEFEEAE-FE=APAR, §—E LTRSS E —@REARBA, 4, 45, .5, E5ETES
R—RihgR, AT . PSSR = AAEE R0, 30, 50, . EMER—S285] . e
Lo R A —RIY)4R £, ETERSER b 2ol b, SOkt =tk (11

y
A
A;
4,
A,
OlT0 30 50 >
100 4
2ogok Xhal= a2 G ImEss)

3. BnB—BA, (@) BBFIHa =1, BAE a, FEERIE <x < L

2
JO= : AR > Alla,= (13)

1 1
a,x", — <x<—
n+1 n

2 2
14, BPRWEE o+ =1 E—BL FLF, Jy TfREE, 35 ZRPF, =60°, AIAPFFIERME  (14)

15, BT RSER S HBLS/(1)=2/Q B [ f@dx=0, 3 f(v) =0wymiHi T e, B fia<B, Qs

(a, B)= (15)
16. j?f3]§x+2— 4_gxz,dx= (16)

= HHERE: S0 32053
4 2 2 1 |
Laed=) o | Pl | ROEPTAP s . (2) 4% 2Rk

2. IRIR Bl 10 e B THHERATII G, sk SR Y AT ISR B B L FRFR, B
R

BT A | B C | D | E|F | G| H| I J
AGRATREE | 75 | 60 | 65 | 65 | 60 | 65 | 55 | 60 | 65 | 80
Sl@i%REE ]| 1001 90 | 90 | 80 | 70 | 70 | 60 | 60 | 80 | 100

(DEAK AR AT R 48 B R 1% B AR AR B (A
QYETAALN IR 1 R T, CHHIISATRE R 50 5y, FBIaEEIsRE N REE B 2

2



FITIRLERIEB LS R
103 24 B 2 REXMMIEE [MBH]) RN WEEL
— > HEFREFES S L8045

e} (2) 3 4) %) (6) (7 ®
1+34/3 25 5
24 1000 13 = -3 96
23 8 3 4
9 (10) (11) (12) (13) (14) 1s) (16)
8 3 Y =30x-75 | 338448 7! 1693 | (Lo 6
243 19 3 3

— -~ FIEE: #1045 #2045

3-3.2%  3.2%

K i BN P R ) Y R ) T

@(1)“ 2];@){‘2”'230 ‘“ﬂ

-3 -1

et g |1 O]1 0] [ 0 P G i ptpop_| 170 s
) (P APYP™ 4AP) = 0 20l0 270 o BIPT AP = 0 2 [ AR P AP = o0 ow | CTREERG LR,

A0 =pprigopyp o 20 LT 0=t S 2 20 e 1] (24300 0
-3 =1/lo0 23 2 3 03 2| 3-3.0% 3_o3 |-

2(1) 0.8; (2)56 43
10 10 10

(Dec=065, pr=80, D (x, = i)y, = 1,) =800, (5~ 11, Y =500, 3 (y,~ 11, )" =2000 ,
i=1 i=1 i=1

i(xi _IUX)(yi _IUY)
SorX, D= — 800

10 10 - 1000 =0.8.
\/ (x,“ﬂx)zx\/Z(yf—/uy)z
1 i=1

i=

10

D0 = 1), = 14y g
@ y=a+bx, p=-1 =g

10

2
Z ('xi - qu)
i=1

8 . . 8
=y=atox, 65, 80 RALERK = a=-24 :>y:—24+§x.

8 L |
y=—24+§x50256 , TR R 56 4%




